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(2m 1) |cos(a—fB)=cosacosB+sinasinBzonT (REEEE 2 AEOEREZHE )

Birg LT, A (cosa, sina), B (cosB, sinff) ®2m%E 5, =L, a>B &T 5,
OA=1, OB=120OT, AOABDUABARLWEBRTHIETS L,
AB? = OA* + OB?* —204 - OB cos(a — )

=1 +1* =212 cos(e—B) =2—2cos(a—fB) —D

2 HEIOEBEDANKE Y,

AB? = (cosa—cosf)’ +(sina—sinfB)> =2-2cosacosf—2sinasinf

D. @OIFELVDOT,

T’%iiiz,‘i_:(cos @, sina)
2-2cos(a—B)=2-2cosacosB—2sinasinf

] vz‘;‘i};B(cos B, singp)
X -T, cos(a—f)=cosacosf+sinasinf

(£®2) |cos(a—f)=cosacos+sinasinfz>\T (NEEHES)

B M ET, A (cosa, sina), B (cosB, sinf) @2u% LB, 7272L, a>B &7 3, .»

Od=a fo"é:é’krmz:\E-Z:]E’]Eicos(a-m:1-1-cos(a—5) — @  (ExHEL cos D)
}_.

g=(cosa,sina)

a-b=cosacosB+sinasinf—=0@ (FHEH LOBEDOR)

@, @iIFELVWOT, cos(a—B)=cosacosB+sinasinf

(7m0 3) |cos(a+ ) =cosacos—sinasin BliconT (NEEES) i

BT EC, A (cose, sina), B (cosB, —sinf) ®28%& 5,

~—

b}]:} \b—é:g&ﬁ—ég\ cos(oa+8):a'b cos « cos 3 — sin a sin 8

::— = ¢cos o cos 3 — sin « sin B
|p

1x1

X o T, cos(a+B)=cosacosf—sinasinf3

<fHR>
hoIEEBEORIZONT
cos(a+ ) =cosacosB—sinasin B DFEHR I TV D & W S ETHET,
7T

2.

a% aICEEHEXD L cos((-;z—a)w’-[:’):cos(g— a)cos 3 —sin(%—a)sinﬁ

(7)) = cos((g —(a=B)) =sin(x - B)

(A3i) =sinacosf —cosasinf

Lo T, [sin(a—B) =sinacosf —cos asinBl
IIZT, BE—BIZEESHRD L,
|Sin(cz+5)=sinasin8+ cosasinB&




